HSAEER

OREt 52—

i =4 & nf

2[5
QR 2—LIS BB

i =4 & nf
RBRE 34.09
EVAR—IL-BE—-/RT /I -ERT(1) 106.37
R—IL 33.58
AI=E2, 3 0.00
#3(1)(2) 7.49
= (1) (2) AT 0.05
A= 0.00
E7/E 0.00
BE1). (2). (3) 0.00
BTQ@ 0.00
EE 0.42

- HERE 0.00
BHE 2.81
EE@(EHE) 0.00
f—=2 GO L 74.89
EFE(L—=2FT L) 0.49
35— )L—LA-B 4572
EEG)GEEE) 0.02
X T—-Byh—IL—L(B). () 0.24
BAREKRE(BL3HEMA) 0.12
BARIYT—T—R(BLFRA) 0.00
WC (%) 0.00
WC(5) 0.00
ZEHWC 0.12
EVIR—IL-FEAR—X-ERTF 47.65
BERZIF 41.57
DX RETF 31.89
HY=E 6.21

- 23LE 0.02
= 12.87
WC(8). (%) 13.34
Z HIIWC 0.02
RAYIEE 2.12
AIZE7 0.00
FYRXTUAI—L -2 2T HBHRE 108.38
EVR—IL-ERT 12.34

- HhELE 1.89
23LE 1.89
WC(8). (%) 1.45
ZBHIIWC 0.02

- FEEX=E (1) 7.08
PGB =R (2) 51.83

[ ]

T ERT

131.80 m

646. 98 m



